921107800

ROUGH COUNTRY

SUSPENSION SYSTE/NS,

Jeep 07-16 JK OE Tail Light Cover

Thank you for choosing Rough Country for all your suspension needs.

Please read instructions before beginning installation. Check the kit hardware against the kit contents shown below. Be
sure you have all needed parts and know where they go.

KIT CONTENTS TOOLS NEEDED
ail Light Covers illips Head Screwdriver
2) Tail Light C Phillips Head S dri

(2) 1/4” x 1/2" Carriage Bolts 7/16” Wrench
(2) 1/4” Nylock Nuts
(2) 1/4” Flat Washers
& .
&Y% o

INSTALLATION INSTRUCTIONS
1. Using a phillips screwdriver, remove the (4) factory screws from the OE tail light. See Photo 1.
2. (Skip to step 3if not mounting optional rear facing lights.) Install 1/4” x 1/2” carriage bolt into light cover. Attach
light using supplied 1/4” nut and washer. Tighten using a 7/16” wrench. See Photo 2.
3. Using factory screws, install the tail light cover over the OE tail light. See Photo 3 &4.
4. Wire the light with the supplied light instructions.

| PHOTO 1

PHOTO 2

PHOTO 4
[F k:

PHOTO 3

ROUGCH COUNTRY




